Name:

L2S2

p [Composition of Three Functions]

A) Iffix)=7, glx)=9log,x and A(x) = 4x, find the following.
1 h(f(gkx) 2) flh(g(x)))

PREVIEW

Gain complete access to the largest
Q) Iffix)=x+2, gix)= Rcollection of worksheets in all subjects!
1) ((hof)ogk)

3) Is((hof)og)x) =
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D) 1) Ifﬂx) = 8%, g(X) =510y, A anu 7iti) =X T 74+ I, WL Ol U ollowing represents

g(f(h(x)))?

) -5x>+35x+5 i) 5x°+35x-5 i) 50°+35x+5 iv) 5x°-35x+5

2) If flx) =x, g(x) =4x -3 and /A(x) =x* + 9x, which of the following represents
(fo(goh)x)?

) 4x?+36x+3 i) 4x°+36x -3 i) —4?+36x+3 iv) 4x°-36x-3
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